leduvz #3

o m e rm Y

DZ_J ’

V.BJ‘

D..: uv_.Jﬁ.eo_.ﬁ.&J /\
>o<% \V—Sﬁzg.m.v v

Vin=
Vot =

g._..‘,@dn\.%a_.s.% 2 .C..«....«
D (6) = w Wout - df
M Win= Wowk
—\oh_f._)w

.M’\ﬁ n.m?l %os»/v =0

Vin Ilyﬂﬂil <_vo

Ve
Vol e|¢®\¢.<§

T
Nop = +. ﬁn‘m..s.. @c.\nv v Vow*
<_é =k T,.m_.}.. mv..;» )
Ve
Mpp = { A&_S \oiJ
cos (Wil Wag 1)

VoxVe ==Pin-Fout

L — e (o1 Ju
Voy = .W. s (Do 1)+ A QSQ wN.mv
20} ¢ &L
| + A RC > ¢
NS i
—Tan MU



Voo & A cor( PS..«V | v Aaw =0
3 = V=0
= K S\:A@oci
- = %nn
~ B 3
W=7 w(Q.5) = ¢; (-4
Vouk ,n (£) = Pk Aln AAZ.&” (0) + ﬂ<8<PVAJ = e,_.v\_.>d+ @..%5%
A = Wiy — ﬂ&oS». ﬁo/v -+ K<n®v =0 — C)uo\
, Jx tt) =
3 ws Pl | A (g) | S
" R :
TR lwig) = N6 ,
——  (Kveo[z)



Ve veo ches».

Vad () = F Sin ( N, Tt | 5:.@ %v
— i
Wiree - fiee JCsEN?u .Thécmsf .

A 4
@céﬁ.mu = . ol:..qm.h x 4 %K(no. <¢ﬁ.ﬁ4. AT
o)
Wonk (V) = m%ci@ = Wypa t Koo Ve)
at
\n Steady glate:  H Wog () = W,
k100

D Vo= NinWrer
Kveo




5
g-
S
"

Win (D + &, 00

o) = Nod () Bovs 1©)

€))

el @..sﬁan nwoi.ﬁb =0

BWE) = Wi = ([Ofveit Kveo-0)

DZQSSVH N ﬁZ._..qAn.* _?8.<ov
z” PebﬁoJ =0 S | <..\ =D

i

:

-

—




